N

FAHEP 109 F 37 22 p ATEHMR (T F 47)
PERA-T S B MR

Har

N

ol

o i
R

Ans. E#3E: FX 24 > £ 504 100 4

] [2) "R r @ EEy 3~ B> B ?
() F fp2cs B (Q)2LF fpic+ B Q)kA B D A F

Ry
VAAY
R,
A
- b o Vo
Vin

] [1) 4% 138 %X BHF L@ ?
W1+L @ -(1+2) ¢) &L @) -~

] [3] #4% 148 Ri=20kQ » Re=100kQ » £ 13| V=60V » 42 & Vin 3%
25 R
(1y+12 (2)-12 (3) +10 (4)-10

1 [2) ~ M= 5o f e 4 B> V=20V Ri=10kQ» ¥ ReFh o 5 & 4752
TR VoRiT 5 5 R
(10 (2)to0 (3)-00 (4) 14} g2t

X

VNV

- D—OV

Vin

(|

] [4) = B#r7 Sa e B> V=20V Ri=10kQ» ¥ ReFdl > % 2 @t
TR VoRiT 5 5 R
(1)0 (2)+c0 (3)-c0 (4) 20V

1 [11 T ®=7 BIT R & ’Vcc—+20V VEE— —20V » Veeoon)=0.7V > =100 -
Tﬁ% Vc=+6V Ic—+2mA EL, fe RC % g b .
(1)7KQ (2)5KQ (3)3KQ (4) 12 + ¢ 2L



10.

I1.

12.

13.

[2]

[2]

[3]

(4]

(1]

[2]

[4]

A REFE P 1097 30 22 p ATiEENRE (R F50)

wRE-R S FmE

(1)0.01 (2)0.02 (3)0.03 (4) 14 + & 2t

oTinles ¥ »%‘:{»‘i:g?
2)2.02 (3)3.03 (4)12 F ¢ 2t

poo
,‘,!4‘?";
%ﬂ
~

8&’ TR Ve s % '/lua-?
(2)+0.7 (3)-0.7 (4) 11 + ¥ 24

Ef% 0% TERei F9
(1)19.1Q (2)9.55Q (3)19.1KQ (4)9.55KQ
T@%ﬁﬁiﬁ%?%’ﬁ TRVERB & 5O RE?
(1)+0.7 (2)-0.7 3)vi (4)0

R

+ +
Vi v,
o o

BRSO B vk s 50 k9
(1)+0.7 (2)-0.7 (3JV1 (4)0

TR AT A S R
Vo M 5 5 U REFD
(1)+O.7 (2)-0.7 (3)0 (4)vi

¥ L R B g

=

T

=H

79



i HIE S P 109.& 30 22 pariesFR (T3 #)
WAl-R S B MR

»

+ o

<
LA
N
=

15. [ ] [1) &5 % 1448 ii%;'VSJ.iﬁ’T;'Jf?'EJIE’i?

(1)D1 %-15 ~ D» %-13 (2)D1 %-EE ~Dy % %-3@
(3)D1 # i ~Dy ¥ (4)D1 # HiE Dy # Hid

16. [ ] [3] *& g—i): 144> &% - B- BEAFTRE Vb 3 7 M ovs & vo fit o i
h¥
(I)VO FLoyg r—g 2Vp (2)VO FLopg Fs Vb
BGvstt vos 2Vp  (4)vst vo B Vb

170 ] [2] #%% 1438 5 - Boml AL b A G RHTE - T 7P 4L m?
(1)vs (2)vs-Vb (3)vs-2Vp (4)vs-3Vp

18 [ ] [4] T W¥im - BT § - 54 Dy > % 2 875 ™ 7 ie 1 A
(DvoREL 0 REF Qvo TR 5 1.4 R4+ (3)& dxiind
COF S ol T

O

+ +
ac
input Vs
— — 2 D3
(e, L

a%a

19. [ ] [2)] TH#r7 BIT %~ % - § BT HMsH > 75w
(D (30 fe® (T2 H Q) 2 1BF %
(D (e300 %



iy
5
éaa

N 109_&3”22 2

TR (R 54
P H-T S Bk

VEC
L
RS SR IO
oy ot
R3|g C
Vi i N
+ I\: R
|_> Vi Rout L
RIn - — —_
C=o0

(1] 5% 193 § M T hlscd > ToPF 05?7
(1)VBE "8 ik ~ VBC ik
(2)VeE "8 8y ~ Ve "8 i
(3)VBE i i ~ Ve "8 i
(4)VBE % i ~ VBc it ik

(3] 4% % 193 > A EARTIEro IR BHTIE Row 5 02
(DRg//Rc//ro
(2)Ry//1o
(3)Rc//1’0
(4)Rp//Rc

(2] #&5% 1938 > d » H2 ) CHRIZ Rin 5 77
()Re//Re/ltn
(2)Rp//1tz
(3)Rc//1z
(4)Rs//Rc

[3] #5% 1942 > TRHEF gn  LEDRTIZ 1o 2% BH E (/)
s @7
(1)-gm(rotRc+Rr)
(2)+gm(r0+RC+RL)
(3)‘gm(ro//RC//RL)
(4)+gm(ro/ /Re// RL)

[4) £ % 193> TR Vecte »3REFT R Co P i@ ?
(DA e 5 QBT Q)R (D] & i

[2] T Bl Ao Bfa’%ﬁ)‘; LAY Ql_bia QZ,J}_E{#&;@—%@;@?
(1)Q1 £z {r % ’Qz—ﬁ%? W

2Q)QeEfe® » Qo
BUuztEE%H Q=tEf %

47/ 107



26.

21.

28.

29.

30.

FAHFST 109 30 22 p aTiepirl (R 5 %)

] [2]

1 [4]

I [3]

] [1]

1 [4]

S TR o N

(4)Q1 = ’E‘L? % 0 Q2 é@"fr’?‘z
Voo

G,
VG1=‘7C m+Via /2

G,
va2=Ycm-Via /2

~Vss

BEF 2SI oETL BRELABES G BT L0 Y O RiE
Aol o fe L FE 7

(HQi B refe > Q% fedn

Q)Qi mr » Qm

B)Q B #EE > Q3 [Efn

(4)Q1 B red > Qo i # e

By y 25 5 g 1T ) 2 B FH s s X T A Jf‘riﬁzﬁ%i%;,_
(Vo1/vid) & @ 7

(1)+ngD

(2)'ngD

(4)-1/2gmRp

A 25 A RN BRAFKS > 2 TR N
(vo2/vid) & T 7

(1)+ngD

(2)'ngD

(3 )+ 1/2 gmRp

(4)-1/2gmRp

B0 25 40 TR L A PSS O E (o)
e

( 1 )+ngD

(2)-goRo

(3)+1/2gmRp

(4)-1/2gmRp

s %]t"i‘f\ ?_,ﬁf/é. ’ 4’% T{E"g/\/y T?‘; ‘%‘fu# ﬁ"}’gt;\ ’ 75 ﬁ’g ?_, EIEB ,EEE‘] Q1 _l;;E’ Q2 /))?171‘35

ok

E‘}J“

P
yallyal



31.

32.

33.

34.

30.

36.

31.

I [21]

] 111

I [2]

] [3]

] [11

1 [3]

I [2]

\\

B)QiFEdi s Rss Qi Rss

Ly 109-& 37 22 pATiEHEMER (R F5)

WAl-R S B MR

(4)Qi rE4is 2Rss » Q2 fEFi iz 2Rss

~Vss

4»5‘%—:):30%\”‘% r'—»r

(1)+

F=-3C SE 30%\’

(1)0 (2) +

s Bz

cm

(D]

FHE

%3—&% N F\‘ iw .
B 422

(3)—— (4) +

@)%

E T e N W

ERE S %—‘3“)—‘&% _f;. Acm:(VOZ' Vol)/Vicm 7‘% w7

G)Ag + Acnl (4) 1Ag = Acm -

FOM ek B R T it
(ptiEsl QPtiEs 0

Ly I%]“‘T—rr‘rl AT & 5?‘%

VBE(on)_ 'O SV g

(DO~ B B ~
B)ONF B ~

Qp 47 F

Qe (HOQniT R

A

1

L

% QN Hid ¥R Veeon=10.5V > Qp % 7 &

,(3)5\ A\a* (4)45 |- 45 4

3 B ssga%] NEBERZRIL 0 T OUAR L T AR IE ?
(D*# (2) £ 4 (3);"@/@ ()4

At Bt Hagoek B B vn- IR0
(DT R QMR 3)F REsest ()i 5 4

> vi=0 0 7 d @g}t}l\;,@ ESTZANY

2Q)Qn B ~ Qp B B

~Qp i B



N

i A HE S P 109-& 3% 22 pATiEHMR (T3 3)
Eark i g o K

=

VCC

~ Ve

38. [ ] [4] £ %3748 St magdas B
(1)class C (2)class AB (3)class A (4) class B

39. [ ] [3] *&§%37%\ @lﬂﬁ/ﬁtilal??
(1) (2)

Vo Vo

ANA NN VA WA
VARV VARV

3) (@)1 v 2

Vo

ANVAN
VARV

40. [ J [2]—':"4]”‘1"1‘?173:}'3-”‘9:—\ T B ’,C\lxxﬁ’ B g7 ;;)f%(ro oo)
VBE(on) O7V VTH_25mV’ 1\:3:: &BJT é’fé_,.% lﬁ)fi ﬁ_‘/x ) ?
(HIpA  (2)10uA  (3)100pA  (4)r2 ¢ 3 25




FARE LS 109# 37 22 pATEPURR (R 47)

BT G R

41. [ ] [3] i‘%—~3§§?%40%§’?:,&ﬁ%»ygjazzé;,bg@%%?
(1)250 (2)25 (3)2.5 (4)0.25

42. T 1 [1) BE5H 408 ¥ &R BRIMFE L@ ?
(1)-121 (2)+121 (3)-12.1 (4)+12.1

43. [ 1 [1) " EHrrmics BRR > asx BEREME Av=-100V/V > 2 T
% Cr=10pF > £ * % ¥ 32 (Millier’s theorem) » #=t 327 % Crl 7
FCECHE TR R TECra ot pF?
()1010  (2)101  (3)10.1 (4)1.01

4. [ ] [3) BEF 433 > FWTH Coa %5 pF?
(D1010  (2)101 (3)10.1 (4)1.01

B0 ] U] S5 43405 Mo A Fh by~ ARG ORI R §
A 2RI

(DR QOFH QOrH De s

46. [ ] [2] = W#+ % 2 + (Colpitts oscillator)#& F & » Zi 5 78— fa~ i+ ?
MEE QT F AT (4)- =i



FAHEP 109 F 37 22 p ATEHMR (T F 47)
i+ Tk

—@— L

Q =R ||z,

Z,

47. [ ] [1) &9 % 46488 > Z 5 98- fa~ i ?
MEE QrF Q)T (4= &4y
48. [ ] [4) B4 5 46473  REMF L5 2

1

1 1 1
1) 2) 3) 4)
( 72m\[C3(Ly+Lp) ( }Z”VLa(Cl*'Cz) ( }271 /Cs(%) ( }2”,/L3(%)

49. [ ] (11 T Werr TR e @i i N Y 245~ A~B~CD ¥

A S
(1) Y=A-B-(C+D) (2) Y=A-B-(C+D)
B)Y=A+B)+C-D 4 Y=M@A+B)+C-D

—————— oY

M4Km
Bo—] HQB

m#%c m{%D

50. [ ] [3] T W7 i @i sest > gy Y &2~ A Beh® iR itdiest S 2
Y

() Y=4AB (Q Y=A+B 3) Y=A+B (4 nty=




A HAE

s\
=

109 & 37 22 p AT gas A (%
R R-T S Bk

Vbp
A

<_.
Ao—| Qpa

Bo—{| Qps




